>
|
Py
=
=
X
/|\
|
~
N
|
)
N

2
+ (— \/g) o of, 10X g 51

3
2 5 4

><3 2><5 8 6
w2tA 10X = 60 ©|th.




® x=19 1, VI5+x & 2as7h o,
© x=3 9, v2IFx & A7} B,
© x=4 9, VIO T3 & 247t Ak,
® x=6 9, V85 F ¥ At o,

60 066 066 ®oe Goe

~&B

Ox=394 1, V24+x = V270|127 AlF57t o B2
247} 57 k=

@x=6%Y M, V8 +x= V010|191 & AF57}t opB R
AAA47} =7 et




3. the B VIT- 2 7h AQ4T} A SHe A% 1 o] ghe B T}
ofet.

> £

i

vV V V¥
02
o
e

0
i
o

B

V17 - 2x 7} ZA47} = A 517] flaiA =

17 — 2x 7} Alg57t = ofof qieh,
17-2x=1=>x=8

17-2x =4 = x = 6.5 (x 7} AAA57} oy}
17T-2x=9>=>x=4

17-2x=16 = x = 0.5 (x 7} A5} ofh
watA x = 4, 8 o]t}




ohe O ¢tell Eof Sx.> A MeEy xy
Tafolet,
B7]
@ V201 © 150 V2
2

© -\5O-3 ® V010 /2

@ 3V305 ® +0.010 V0.1

» G

> HE: 9

B

DV2>1
© 15> V2
©®-V5<-V3

2
@ V0.1 < \/g
@3V3>5

® V0.01 < V0.1
wabA x =3,y =3 0|22 3x 3 =9 o|t},




H7]

@ a7} A% L W, va 7t fel A9t

)

)

© 370




